Data Sufficiency Questions and Answers Pdf for Bank Exams

Question: 1

Each question given below has a problem and two statements numbered | and Il
giving certain information. You have to decide if the information given in the
statements is sufficient for answering the problem. Indicate your answer as

(a) if the data in statement | alone are sufficient to answer the question.

(b) if the data in statement Il alone are sufficient answer the question.

(c) if the data eitherin | or Il alone are sufficient to answer the question.

(d) if the data even in both the statements together are not sufficient to answer the
question.

(e) if the data in both the statements together are needed.

When is Manohar's birthday this year?

I. It is between January 13 and 15, January 13 being Wednesday.
[1. It is not on Friday.

(A) If the data in statement | alone are sufficient to answer the question.
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( If the data in statement Il alone are sufficient answer the question.
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(C) If the data either in | or Il alone are sufficient to answer the question.

(D) If the data even in both the statements together are not sufficient to answer the

question.
Ans: A

From statement |, we conclude that Manohar's birthday is on January 14, which is Thursday, this year.

So only | is needed.
Question: 2

Each question given below has a problem and two statements numbered | and Il
giving certain information. You have to decide if the information given in the
statements is sufficient for answering the problem. Indicate your answer as

(a) if the data in statement | alone are sufficient to answer the question.

(b) if the data in statement Il alone are sufficient answer the question.

(c) if the data either in 1 or Il alone are sufficient to answer the question.



(d) if the data even in both the statements together are not sufficient to answer the
question.

(e) if the data in both the statements together are needed.

When is Manohar's birthday this year?

How is Rakesh related to Keshav?

|. Tapan's wife Nisha is paternal aunt of Keshav.

Il. Rakesh is the brother of a friend of Nisha.

(A) If the data even in both the statements together are not sufficient to answer the

question.

(B) If the data in both the statements together are needed.

(C) If the data in statement | alone are sufficient to answer the question.
(D) If the data in statement Il alone are sufficient answer the question.
Ans: A

Clearly, both the statements together are not sufficient.

Question: 3

Each question given below has a problem and two statements numbered | and Il
giving certain information. You have to decide if the information given in the
statements is sufficient for answering the problem. Indicate your answer as

(a) if the data in statement | alone are sufficient to answer the question.

(b) if the data in statement Il alone are sufficient answer the question.

(c) if the data eitherin | or Il alone are sufficient to answer the question.

(d) if the data even in both the statements together are not sufficient to answer the
question.

(e) if the data in both the statements together are needed.

When is Manohar's birthday this year?

What is the amount of rice exported from India?
|. India's export to America is 80,000 tonnes and this is 10% of the



total rice exports.
Il. India's total export tonnage of rice is 12.5% of the total of 1.9
million tones.

(A) If the data in statement | alone are sufficient to answer the question.
(B) If the data in statement Il alone are sufficient answer the question.
(C) If the data either in | or Il alone are sufficient to answer the question.
(D) If the data in both the statements together are needed.

Ans: B

From statement I, we conclude that the total amount of rice exported from India is (12.5% of 1.9 million
tones).

So, the answer to the given question can be derived from statement Il alone.
Question: 4

Each question given below has a problem and two statements numbered | and Il
giving certain information. You have to decide if the information given in the
statements is sufficient for answering the problem. Indicate your answer as

(a) if the data in statement | alone are sufficient to answer the question.

(b) if the data in statement Il alone are sufficient answer the question.

(c) if the data eitherin | or Il alone are sufficient to answer the question.

(d) if the data even in both the statements together are not sufficient to answer the
question.

(e) if the data in both the statements together are needed.

When is Manohar's birthday this year?

Is Arun taller than Sachin?

|. Dinesh is of the same height as Arun and Sachin.

Il. Sachin is not shorter than Dinesh.

(A) If the data in statement | alone are sufficient to answer the question.
(B) If the data in statement Il alone are sufficient answer the question.

(C) If the data either in | or Il alone are sufficient to answer the question.



(D) If the data even in both the statements together are not sufficient to answer the

question.
Ans: A

From statement |, we can conclude that Dinesh, Arun and Sachin are of the same height. So, Arun is not

taller than Sachin. Thus, only statement | is sufficient.
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